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307 212tol 41,000 41,000 0
02 It SAIHBE X 41,000 41,000 0
OdEN=snd 29 41,000,000& 41,000
dEHEIZ O 10,000 5,000 5,000
307 @I2tol & 10,000 5,000 5,000
02 UBHAIHE X 10,000 5,000 5,000
Odgd=s 218 =9 10,000,000 10,000
A2E=ZL 012 K 38,633 37,288 1,405
7 27,085
& 5,804
[Ea 5,804
301 L2 s = 38,693 36,388 2,305
7 27,085
T 5,804
= 5,804
01 M EF A 6= 38,693 36,388 2,305
OAX =24 0l8d K& 38,693,000 38,693
D) 27,085




A 2e=EL
3 Hs 2 5
ol MEHS XS CEERED
- _ — PolE |
SN BB SR(EH) - MTAY - B 0l &t it HIRE2
= 5,804
i 5,804
SHESCMUEMSXEX BIX 27,936 27,936 0
< 8,381
i 19,555
307 glz2tol & 27,936 27,936 0
< 8,381
i 19,555
02 IS A E X 27,936 27,936 0
OAlZ ME M=K X 27,936,000 27,936
< 8,381
i 19,555
E=3TH HEE 7,000 7,000 0
< 3,500
i 3,500
307 glz2tol & 7,000 7,000 0
< 3,500
i 3,500
02 QItS A E X 7,000 7,000 0
OE=8H UHEE 7,000,000& 7,000
< 3,500
i 3,500
=iz 23 1,800,900 1,322,700 478,200
= 20,000
i 1,780,900
MsdAL 2 Mss 2 312,100 289,700 22,400
201 e A 5,800 5,800 0
01 At 2teltl 5,800 5,800 0
OLE MsdA 22 89 1,500,000 1,500
OZE M=A & IHM = 1,000,000 1,000
OFAME L ASHA S2X SAH|
1,800, 000& 1,800
OMYIISE 2HI(504 ) 1,000& * 1,5000H 1,500
202 044l 12,840 12,840 0
01 SLHO Y] 12,840 12,840 0
ON=sdE HRFL Kbl 7,840,000& 7,840
OB Z0tctE el E2F& ¢l
1,500,000& 1,500
Od=Md & Uz FRFE 0]
3,500,000& 3,500
307 212+0I A 293,460 271,060 22,400
02 QIS A E X 21,060 21,060 0
OMEMESXESX SAHI (LB HEA AIZ &
oper) 130,000 * 128 » 128 18,720
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A 220

M s =T &5
tel: =i 23 (ctel:®2l)
SA - ZE SR (B) - MRAY - BAS il &t e imE=T
OHMENSXNEN WY
97,5002 = 129 * 23| 2,340
03 QIZHHHMHE2EEIE X 272,400 250,000 22,400
O34z H=s 29 272,400,000 272,400
ED|E OtetE tal 300,000 250,000 50,000
307 2IZ2t0I A 300,000 250,000 50,000
04 DI2FEHALALSE E = 300,000 250,000 50,000
OHMI103l ED|E OtetE Ual 246,000,000& 246,000
Oz Otete Hal 228 sSats 7Y
37,000,000& 37,000
OBIE Oi2tE Usl 23 (s8)
17,000, 000& 17,000
&= AOIZ U3 85,000 55,000 30,000
307 SIZ2t0I A 85,000 55,000 30,000
02 SIZHAMAIHE X 85,000 55,000 30,000
O8&838Z10F 8= A0I20i&  85,000,000& 85,000
=0l =03l 262,000 109,000 153,000
307 2IZ2t0I A 262,000 109,000 153,000
02 SIZtAAMAIEE X 262,000 109,000 153,000
OHNI332 ZelM=al 262,000,000& 262,000
S% MsU3s 98,000 108,000 A 10,000
307 SIZt0I A 98,000 108,000 A 10,000
02 QIZHAAMAIEE X 98,000 108,000 A 10,000
Os9 HMsU3(7H 8H) 98,000,000& 98,000
E=2E MEMsSUHI 74,000 74,000 0
307 SIZt0I A 74,000 74,000 0
02 SIZtAAMAIHE X 74,000 74,000 0
OE=gd=sUa K=l 74,000,000 74,000
SET MEHsU3 25,000 25,000 0
307 QI2+0I A 25,000 25,000 0
02 SIZtAAMAIEE X 25,000 25,000 0
Os4d= MEMsUsl Nzl 25,000, 000& 25,000
SR Mslal 62,000 27,000 35,000
307 SIZ2t0I A 62,000 27,000 35,000
02 SIZHAAMAIHE X 62,000 27,000 35,000
O&H? M=Usl M=zl 27,000,000& 27,000
OZ0Z24 MEHSH M 20,000, 000& 20,000
OZE=0d dEHSUH2 M= 15,000, 000& 15,000
M=Uz=2l &2t 392,800 385,000 7,800
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SA 2EEN
33 M= odZet &5
©°elr M=sia 29 (&2 d)
- _ - &4
S R(B) - MIRAY - BES Ofl &t 24 it HI B S
307 @I2tol & 390,000 385,000 5,000
02 ULBHAIHE X 390,000 385,000 5,000
OXb552l SSEUMSUE ot
185,000,000 185,000
OAlzZie SX0tetEHal FIH 20,000,000 20,000
OX102 SSYMHALEHMFU &It
20,000,000& 20,000
OZOAM=U=l JH=l = ZIb 15,000,000 15,000
OMEZ &&=zl &It 4,000,000 4,000
Os=gdEN=Ual ot 31,000,000 31,000
SSdENsUHa ot 60,000,000& 60,000
OXNi2sl sd=2 0! M=M= 20,000,000 20,000
OZ 02! MSuwa A 5,000,000 5,000
Ok o2 d=M=0=l &It 15,000,000 15,000
OIS HddEXM=sUa 2ot
5,000,000 5,000
Od=Uzl &t 10,000,000& 10,000
402 RI2FRHRO| & 2,800 0 2,800
01 Y22 A E X 2,800 0 2,800
Os4dzHd=s3 =¢84l #¢ 2,800,000 2,800
M BN e H4E 23 FH 60,000 0 60,000
307 @I2tol & 60,000 0 60,000
04 QIZHSHALALRE 2 & 60,000 0 60,000
02016 MABHAE HEA2HEEM
60,000,000 60,000
2016 8=22EH28 F2U3 80,000 0 80,000
307 eI2toId 80,000 0 80,000
04 QUIZFHALAIZ 2 & 80,000 0 80,000
Od=Ra2HZE F2U32 80,000,000& 80,000
SXIAH HAAT= 45 JHA 50,000 0 50,000
= 20,000
o 30,000
307 212to1 & 50,000 0 50,000
& 20,000
= 30,000
02 UBHAIHE X 50,000 0 50,000
ONIUAALZX (3] Wz 50,000,000& 50,000
= 20,000
= 30,000
SH0ICI0II= 191,012 120,370 70,642
cdEH0IL0= 2H= M JIF2c 191,012 120,370 70,642
ga0I0oII= 191,012 120,370 70,642




2N BEE2D
M JADICIAHIIFE
el ZEGA0IC0H2 2= ME JIs2el (=& &)
SA BB G(3) - MPAY - B Ofl &t e HIDE2
201 LBt 175,962 62,342
01 At 22l bl 156,670 51,950
Od=R= 450,000& = 12& 5,400
Oo=s& 300,000& » 12& 3,600
O&It= 900,000& * 12& 10,800
OCGAt Y = 300,000&  12& 3,600
OclZHEZE 600,000& » 12& 7,200
OAdlgat 2832 1,800, 000& 1,800
Oogsg HEI A2ZERN EH4100
5,000,000& 5,000
OXEN 1GANER 550,000& 550
OZEEEE M=l 5,320
-2A& X 1,000& * 600K 600
NP 7,000& * 20004 1,400
~AHEIQISHR] & 243 120,000& * 128 1,440
-2 - 8% HAE ALY 7,000& * 20004 1,400
-AHE Ba2tE Y 20,000 * 2404 480
O=ZEEE & JIERX AL 235tz
8,100,000& 8,100
OZH=E DWW S&a=2 ME 30,000,000 30,000
OZd&e A% HEH 10,000,000& * 13l 10,000
OoAolsgs By 500,000& * 243| 12,000
OZF=EEGY &= 2,200,000 = 123 26,400
OYsEH 228 72 6,900
-HICI23t0let BiEel 270,000& * 504 1,350
—-ENGIt0Hl 2t BHE 2l 700,000& » 50 3,500
-S240t013 A& 5,000& * 5074 250
-HDOI2el JtE 2 900,000& * 24 1,800
OZaxtzZE = CIXIEHEHl 20,000,000 20,000
02 25234l 19,292 10,392
OQHYE S R B4 (SHADB)
7,000,000& 7,000
OAHEIDB AIAE R X2 ~HI 3,500,000& 3,500
OQIHY S8R3 66,0002 » 12& 792
O A0I0I &l =Ald| 8,000
-QlHU R s (DA &Y 5,000,000& 5,000
-3lola & HAISE | 3,000,000 3,000
202 tddl 9,400 9,400
01 S LHOYI 9,400 9,400
OgA0I00 HRF& ol 9,400,000& 9,400
405 THaHE S| 5,650 21,100
01 XatL ESF=HI 5,650 A 1,100
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2N BEE2D
M JA0CAHII=E
el ZEGA0IC0H2 2= ME JIs2el (=& &)
SA BB G(3) - MPAY - B Ofl &t e HIDE2
OAHE Sthiet gl = 1,000, 000& 1,000
OAHEl Sthiiet SciAl 1,300, 000& 1,300
Ontolaz2 2% TAE 350,000 350
OYsE Jtiet = 1,500,000& » 2J4 3,000
HY2AAH(2SEE D) 31,647 28,957 2,690
23t (2E2H) 31,647 28,957 2,690
Jl2dl 31,647 28,957 2,690
201 LBt 22,097 22,257 A 160
01 At 22l bl 20,580 20,740 A 160
Oget==H| 4,800,000& 4,800
O=&Hl 5,140,000 5,140
O=A| Xtz 440,000& = 1CH = 128 5,280
OHFHHIARS Ll 5,360
- Z eI 3,000
CEH 300,000& * 108 = 45 * 23| 2,400
e 300,000& = 1CH * 23l 600
— Bt ElE D] 200,000 = 501 * 23] 2,000
-FAX 120,000& * 1CH = 32l 360
02 3234l 1,517 1,517 0
OHEEH KRAE=HI 1,517
-CHIsAFRI12| 1,300,000& = 17CH * 5% 1,105
== 4,000,000& * 5CH » 2% 400
-FAX 600,000 » 1CH * 2% 12
202 (44l 2,400 2,400 0
01 2401t 2,400 2,400 0
OZs=EN LRFA ¢l 2,400,000 2,400
203 R F&H] 4,200 3,000 1,200
04 EA2IHRFEL 4,200 3,000 1,200
OFRN2IEHRFEY| 350,000& » 12& 4,200
405 XA SHI 2,950 1,300 1,650
01 AL 2EF S| 2,950 1,300 1,650
OUIISAMRID| &7 7
1,300,000&  1CH 1,300
OUIIsSARI1D] Al =&
1,300,000& = 1CH 1,300
ON=2 7 350,000 * 1CH 350
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